Math 488/688 Exam 2 Version B
1. Solve the first order partial differential equation

Ty + 2Uy = —Yu
u(z,0) = z.
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Math 488/688 Exam 2 Version B

2. Solve the second order partial differential equation

4+ 8in 2wz + 3sin .
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3. Solve the second order partial differential equation

w(0,y) =0
u(z,0) = 0
u(z, 1) = sin{nz)
Sepcra A1 gt J}Z w"«m‘,.i}elq,_é/ﬁ g er,f " g},vﬁx o
74
ii» ap ﬁ”«, ,X“’?’ - 5’” ?//“
¢ o
X e i V =k

M x#:ﬂ;ﬂr , ,‘{{{;):‘.X{{}W@«
CARE KD M X ASAE A b By [

X )y=7i5 g =
XD = Asim i =
Cont. R zep vlens. paa Py fﬁ&'rjw;"%lf;@zﬁ Jﬁ&ﬁcﬁ - Wf?
Wors Ay s wpy = g2 i ¥le)o o
Y = (’%M@zzg # b@%%’?;&
YM! o= 02

M;&‘W T m’ﬂw{'g ¢ SEl 'sfév(W A v Lhi  Aoeme

w4z A diaae $iak f'@ﬂ -
wux = 3 Ay wannx SMWM = S

,Ef%;m /m? caz;%wgw v y vedd
‘ 4}? =& 9‘%“? ‘f“‘?ﬁéf
[ . ) 4’
A 5‘#%_%% / o0 ,,.4{ T

| = ok %
T dws
Uiz )=

iw

ZLK@;”“?“?’ &S W"%‘}

Mﬁé 2;& P



Math 488/688 Exam 2 Version B

4. [Math 688 and Extra Credit] Let

R for z < 1
f(m)_{z—a: for z > 1.

Express f(xz) on the interval [0, 2] as the series
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by solving for the coefficents F,,.

Z. .
[ s iaE e

.

=/ ‘a2 5in "ZX oo “‘/{ (2= ) 5in "EE duw =T, v 7,
Whone °

/ o |
- 3 N T 7 ) 4
Z- g g EF : ‘
A A AR 27 ol )
‘ o A S e 2

. i’f?’ﬁ"’l‘%f(} ) > [m% it 'Wt’gmw’?}

5;%:7;{% C%MWM/ j{“mfr?éfg)

-,:g‘ L mzf . ﬂ??‘ 2 . Wy;’\ |
e » et e G T
T A ij )" 2 f }?7?%' o

5 o
P Ly “”bj& = %;g-?' S7u %?



